Law Wooden Clock 31 - Beginners Clock 3

g @ " @ o @ ox (5 @ e @_ 2y 0 s @ s 5 NO. |PART NUMBER DESCRIPTION |[QTY.

1 Clock 31 Back Frame Wood 12mm thk 1

2 Clock 31 Front Frame Wood 12mm thk 1

- 1X (1 A 3 Clock 31 Frame Spacer Wood 12mm thk 2
i 1X 4 Clock 31 Wall Spacer Wood 12mm thk 1

2X v 5 Clock 31 Wall Spacer-long Wood 12mm thk 1
1 f 6 Clock 31 Rear Support Wood 12mm thk 1

| 7 Clock 31 Pendulum Hanger-Rear Wood 6mm thk 1

¥ A Ak _:HZ [N 2 8 |Clock 31 Dial Wood 6mm thk |1
E E E 2 . 9 Clock 31 Seconds Dial Wood 6mm thk 1

1X @: % [ | r/ [ 1 17 T 11 I T 1 T 1111 10 Clock 31 Seconds Dial Spacer Wood 8mm thk 2
I 12— ||r'l I AL T I0F o 11 Clock 31 Dial Spacer Wood 12mm thk 2

2X @fﬂ é.:Df/ I | 1 p | \W@ 12 |Clock 31 Drum side Wood 6mm thk 2
I | /d el v d | wea (RPN @7?' i3 " |- 13 [Clock 31 Drum Centre Wood 6mm thk 1

— g . : \zx@ 14 Clock 31 Gear Spacer-6 Wood 6mm thk 3
| §\ E %? N 3 - 15 Clock 31 Escape Wheel 60T Wood 6mm thk 1

Zal [ R | . “K ' r . STImZI|Z 16 Clock 31 Gear-60T 0-8ratio-6 repeats Wood 6mm thk 1
oy Fl T LML B AT THIE - Bt \@ @ [T S - S5l 17 |Clock 31 Gear-60T 0-8ratio-8 repeats Wood 6mm thk 1
\. 2% 6 18  |Clock 31 Gear-60T 0-8ratio-10 repeats Wood 6mm thk 1

x (8) ix_(56) . o o (508 o 2x (10) x (30) 1 (49) st 155 19 [Clock 31 Gear-20T 0-8ratio Wood 6mm thk | 1
2X 1x (47) 1 (54) 1 (40) 16x (26) ECTION B.B 1x ? ix (2 20 [Clock 31 Gear-15T 0-8ratio Wood 6mm thk 1
x (%) PN 21 |Clock 31 Gear-12T 0-8ratio Wood 6mm thk | 1

: 22 Clock 31 Shaft 1 Side Wood 6mm thk 2

23 Clock 31 Shaft 2 Side Wood 6mm thk 2

% 1X 24 Clock 31 Shaft 3 Side Wood 6mm thk 2

25 Clock 31 Shaft 4 Side Wood 6mm thk 7
26 Clock 31 Shaft Disk Wood 6mm thk 16

’ 27 Clock 31 Escapement Wood 12mm thk 1

i /x,® 28 Clock 31-Pallet Plastic Tmm 2

= 29  [Clock 31 Escapement-Clamp Wood 6mm thk 2

< — 30 Clock 31 Pendulum Pivot Steel @2mm 1

=N=|== /m® 31 Clock 31 Pendulum Head Wood 12mm thk 1

= ["‘T— = 32 Clock 31 Pendulum Rod Wood 6mm thk 1

= B E /”‘-@ 33  |Clock 31 Pendulum Bob Wood 12mm thk 1

=Rz d 34  |Clock 31 Pendulum Bob Wood 12mm thk 1

= EE }@ 35 (Clock 31 Pendulum Bob Bush Wood 8mm thk | 1

= S 36 Clock 31 Hour Gear 32 Teeth Wood 6mm thk 1

: L:m 37 Clock 31 Gears 10 Teeth Wood 6mm thk 3

38 Clock 31 Hour Gear 8 Teeth Wood 6mm thk 1

B 39  Clock 31 Hour Gear 30 Teeth Wood 6mm thk 1

= 40 Clock 31 Hour Tube Wood 12mm thk 1

= ™ 43 Clock 31 Wedge-small Wood 4mm thk 4

= m 44  |Clock 31 Wedge Wood 6mm thk 2

= 45  |Clock 31 Bottle Hanger Wood 4mm thk 1

B 46 Clock 31 Hour Hand Plastic 2mm Thk 1

X (62) 47  |Clock 31 Minute Hand Plastic 2mm Thk | 1

48 Clock 31 Seconds Hand Plastic 2mm Thk 1

}@ 49 Clock 31 Pendulum Pin Steel @3mm 1

T ] 50 Clock 31 Dial Pin Steel @2mm 2

7] 51 Clock 31 Pivot Pin-33 Steel @2mm 2

7 52 Clock 31 Dial Pin-short Steel @2mm 2

1X @ 53  [Clock 31 Pivot Pin-18 Steel @2mm 6

bl 54 [Clock 31 Pivot Pin-48 Steel @2mm 1

DS Clock 31 Locking Pin Steel @2mm 4

3X @ 56 Clock 31 Hour Gear Pivot Steel @2mm 1

57 Clock 31 Counter Weight 30 grms 1

58 Screw PAN Head M4 x 26 1

59 Screw PAN Head-M4 x 20 2

i 60 Washer M4 Brass or Delrin 2

61 Nut M4 3

62 Weight Cord @2mm Cord 1

A 63 Woodscrew No4 5x60 Brass 2

L%ht 1 of 9 Shts A2

Not to Scale
Unless otherwise stated

All dimensions in mm and (inchs)
3rd Angle projection

Designed by: Brian law
www.woodenclocks.co.uk June 2017







3X

Designed by: Brian law

www.woodenclocks.co.uk June 2017

Law Wooden Clock 31 - Beginners Clock 3

All dimensions in mm and (inchs)

3rd Angle projection

A2

Sht 3 of 9 Shts

Not to Scale

Unless otherwise stated




0.47 [20.47]
[12.00] 520.00
—-'—]—ul—
[0.54]
13.60 o /ﬁgﬁ,
/ 58
®
I
[1.97]
50.00
[1.18] '
[0.95] ©'8 30.00 'S '@é?
Fiid] .§4§0 <7 o8 [102,4070] =
12.00 RS [1.57] . )
ey 40.00 58
i % ~
28
S8 - - -@—-- 1—&—- - - - - o— - - - - -—0 - - - € - -—@—- —1- -+—28
\ B TE.
= Ly
4—|D h_."—
\/ S ';;'E - \_/
2 I
A L [3.91] [3.66] [3.52] [1.97] \
© 3 99.25 92.90 89.40 50.00
- 2
- [ 2 i ) [3.48]
%o 'If 5 S 88.45
Back Frame
[1.57] % / Scale 1:1 \Qpﬂ\g‘:}
4000 Wood @k
[1.57]
40.00 [18.11] Cr )
460.00 é }
(18.11] r )
460.00 : e
0.16
[0.47] 4.00
12.00 '
I\-—../‘ E‘g
(Cp]
[3.54] [3.16] © 3
(048] 90.00 80.25 [3354.35]
1230 0 = 5 ~ Y & B L o [197] C | [197] | o8]
| o z 2 S o S S Y S S© e, ! vgé%) 50.00 50.00
— Ny N~y 5 / K
N .
— /_\ I
=1l [ ) f )
= g _\ \ B _k = ) o = = e = ot == o _L o = == ) e o o = = L €
\_/
/ [0.80] o
[3.16] (3.91] [3.66] [3.52] 20.30 %'%
80.25 99.25 92.90 89.40 i
Front Frame
Scale 1:1
Wood
Sht 4 of 9 Shts Az Law Wooden Clock 31 - Beginners Clock 3
Not to Scale All dimensions in mm and (inchs) Designed by: Brian law
Unless otherwise stated 3rd Angle projection www.woodenclocks.co.uk June 2017




[0.24]
6.00

[0.06]
1.50

SO

N

[0.47]
12.00

[0.22]
5.50

[0.24]

6.00

[0.04]
1.00

N

AR

N |

SECTION D-D
SCALE 1:1

[1.42]
36.00

[0.47]

SECTION C-C
SCALE 1: 1
[2.76]
70.00
[1.18]
30.00
g 0.39
53 [10.00]
s
[0.39]
. 10.00
=
Rl
[0.22] [2.25]
5.50 57.25
T ?D
EERI=E

Wall Spacer-Long
Scale 1:1
Wood

These two parts can be made

in 2 halves and the groove
machined down the centre

Pendulum Hanger - Rear

Dial
. Scale 1:1
Wood
Gear 10 Teeth
@ 3 Required
Scale 1:1
Wood
[0.94]
24.00 —
5 S -
¥ 3g
IE.!.D
[1.02]
26.00
[0.79] _
20.00 - O
£
.E.“‘_iC‘ ﬂ
= [0.22] — ——
= = - [047]
3 & N8 12.00
1 [0.48]] =% -5
—l 12.20 ,
L | i
_\:g =
—
Wall Spacer
Scale 1:1 Rear Support Scale 1:1
Wood Scale 1:1 Wood
Wood

[1.34]
34.00

Seconds Dial

F————

R ———

S
\?'G) ' Dial Spacer
@ 2 Required
Scale 1:1
Wood

Seconds Dial Spacer

@ 2 Required

Scale 1:1
Frame Spacer
D @ Scale 1:1 2 Required Wood
Wood Scale 1:1
Wood
[0.24]
6.00
[0.24]
?.DQ‘
&e E
o« —
[0.30] Wedge
7.50 ‘I. Scale 1:1
Wood
Gear 8 Teeth
1 Required
Scale 1:1
Wood
— Gear 30 Teeth E
88 1 Required
g - Scale 1:1
' — 4 58 Wood
o
,_//\ @ Minute Hand
Scale 1:1
é‘-\o Plastic [0_24]
) 6.00
Y
g -
w o
oo —
1 | | | 11 || - —
Hour Hand
Scale 1:1 =
i Plastic
o —
%.U; . —
e 88 =
oo
 — I I
0_0113
\ 220 Seconds Hand ??{qui?r::em -
< .@ Scale.‘ 11 Scale 1:1 =
Plastic Wood
Sht5 of 9 Shts Az Law Wooden Clock 31 - Beginners Clock 3
Not to Scale All dimensions in mm and (inchs)

Unless otherwise stated

3rd Angle projection

Designed by: Brian law
www.woodenclocks.co.uk June 2017




26

26

21

15

(@) ()

Gear Train 1

26 )( 26

@»ﬁ”"'.
&

Drive Assembly

Escape Wheel Assembly

Gear Train 2

Sht 7 of 9 Shts Az Law Wooden Clock 31 - Beginners Clock 3

Not to Scale All dimensions in mm and (inchs)
Unless otherwise stated 3rd Angle projection

Designed by: Brian law
www.woodenclocks.co.uk June 2017




I Loose Fit
I Ticht Fit
I Giued

The section shown above is taken through the centre of the clock and shows all the shafts and the type of fits required.
The clock is shown laying down horizontally with the back frame at the bottom and the front frame at the top.
Each of the joints is shown in a colour to indicate the type of fit required, Green for a loose fit, Blue for a tight fit and Red for items needed to be glued. It is best to glue all of the parts for the Back frame together for a start.

Next assemble the Gear shafts making sure that the parts are a tight fit on the side plates, if there is any loseness here then it is best to glue thes together as well. All the shafts should be a loose fit in the holes in the front and
back frames, if not then you will need to open the holes out slightly.

The only other places you will need to glue are the Carbon fibre rod into the pendulum head and the two sides of the drum to the centre section.

Sht 9 of 9 Shts Az Law Wooden Clock 31 - Beginners Clock 3
Not to Scale All dimensions in mm and (inchs) Designed by: Brian law
Unless otherwise stated 3rd Angle projection www.woodenclocks.co.uk June 2017




	Clock 31-Drawings iss 1_1.pdf
	Clock 31-Drawings iss 1_2.pdf
	Clock 31-Drawings iss 1_3.pdf
	Clock 31-Drawings iss 1_4.pdf
	Clock 31-Drawings iss 1_5.pdf
	Clock 31-Drawings iss 1_6.pdf
	Clock 31-Drawings iss 1_7.pdf
	Clock 31-Drawings iss 1_9.pdf

